IR HEIER AR

Leading joining technology

»

PrERT (ST
SCHAAFHISTRFBRIZR LI 1%+
F HET—MREAIR

SCHAAF"

[Ell| MSNBRIZE R4 Z 51 (ST
Pa 48 | fE FHHARE 77 T SREN £ [a) 4242 hi e

W IR REAAK (1) @
N - (=4
O RIRR 2 X
m R4 @) H
BRGS | THS BRI A S E4BHE 2 | 25| mumn
GxP D2 H DT Dj n sw a Ds S L Fnom Fmax
mm mm mm mm mm mm mm mm mm mm kN kN
B60000100 | MSN-ST/M16x2 M16 x 2 34 16 25 M6 x 0.75 4 5 6 32 3 33 73 94
B60000200 | MSN-ST/M20x2.5 M20 x 2.5 38 16 29 M6 x 0.75 6 5 6 38 4 34 110 140
B60000300 | MSN-ST/M22x2.5 M22 x 2.5 41 16 31 M6 x 0.75 6 5 6 41 4 34 110 140
B60000400 | MSN-ST/M24x3 M24 x 3 44 16 33 M6 x 0.75 8 5 6 43 4 34 145 187
B60000500 | MSN-ST/M27x3 M27 x 3 50 24 39 M8 x 1 6 6 6 50 5 45 214 285
B60000600 | MSN-ST/M30x3.5 M30 x 3.5 53 24 42 M8 x 1 6 6 6 53 5 45 214 285
B60000700 | MSN-ST/M33x3.5 M33 x 3.5 59 24 45 M8 x 1 8 6 6 59 5 45 285 380
B60000800 | MSN-ST/M36x4 M36 x 4 66 32 51 M10 x 1.25 6 8 8 66 5 58 343 457
B60000900 | MSN-ST/M39x4 M39 x 4 70 32 54 M10 x 1.25 8 8 8 70 5 58 457 610
B60001000 | MSN-ST/M42x4.5 M42 x 4.5 75 32 57 M10 x 1.25 8 8 8 73 5 58 457 610
B60001100 | MSN-ST/M45x4.5 M45 x 4.5 83 38 63 M12 x 1.25 8 10 10 81 6 68 700 935
B60001200 | MSN-ST/M48x5 M48 x 5 85 38 66 M12 x 1.25 8 10 10 85 6 68 700 935
B60001300 | MSN-ST/M52x5 M52 x 5 91 38 70 M12 x 1.25 8 10 10 90 6 68 700 935
B60001400 | MSN-ST/M56x5.5 M56 x 5.5 98 38 74 M12 x 1.25 10 10 10 94 6 68 875 1160
B60001500 | MSN-ST/M60x5.5 M60 x 5.5 102 38 78 M12 x 1.25 10 10 10 100 6 68 875 1160
B60001600 | MSN-ST/M64x6 M64 x 6 113 53 87 M16 x 1.5 8 14 12 112 8 92 1270 1690
B60001700 | MSN-ST/M68x6 M68 x 6 117 53 91 M16 x 1.5 8 14 12 17 8 92 1270 1690
B60001800 | MSN-ST/M72x6 M72 x 6 120 56 95 M16 x 1.5 8 14 9 120 8 92 1270 1690
B60001900 | MSN-ST/M76x6 M76 x 6 132 56 100 M16 x 1.5 12 14 9 127 8 92 1900 2530
B60002000 | MSN-ST/M80x6 M80 x 6 132 56 103 M16 x 1.5 12 14 9 127 8 92 1900 2530
B60002100 | MSN-ST/M85x6 M85 x 6 137 56 108 M16 x 1.5 12 14 9 137 8 92 1900 2530
B60002200 | MSN-ST/M90x6 M90 x 6 145 59 113 M16 x 1.5 16 14 13 137 8 99 2530 3380
B60002300 | MSN-ST/M100x6 M100 x 6 157 61 123 M16 x 1.5 16 14 1 151 10 101 2530 3380
B60002400 | MSN-ST/M110x6 M110 x 6 177 79 139 M20 x 1.5 12 17 16 172 10 125 3150 4200
B60002500 | MSN-ST/M120x6 M120 x 6 189 81 149 M20 x 1.5 16 17 14 179 10 125 4200 5600
B60002600 | MSN-ST/M125x6 M125 x 6 194 81 154 M20 x 1.5 16 17 14 190 10 125 4200 5600
B60002700 | MSN-ST/M130x6 M130 x 6 205 94 159 M20 x 1.5 18 17 16 202 10 140 4700 6300
B60002800 | MSN-ST/M140x6 M140 x 6 215 94 169 M20 x 1.5 20 17 16 215 10 140 5250 7000
B60002900 | MSN-ST/M150x6 M150 x 6 225 94 179 M20x 1.5 20 17 16 225 12 142 5250 7000
B60003000 | MSN-ST/M160x6 M160 x 6 234 107 189 M20 x 1.5 24 17 23 234 12 162 6300 8400
A by Ry = = PR
FFSCHAAF BRIZERIEH IR SCHAAFL{RIR T ERRR T 5
gt = = A /. P N
B AR, AR SHR SRR Fmax KA R T8 i 8, A
— N D N L NN P,
B AR T st Har. BT IATKBT A& RE T, U
3 > £ ul A > £
B R EHERT IS FHEER, AURF AR RL R R THI AL B Bl R TR 1R
e S N s <1 N N =
B SEHERT SURIBELR, PA AR TR 1L
. D
L IVaviil: b,
www.schaaf.cn
=] 5 4 3 o N 3 A ¥ o
SCHAAFR I & Bk W B ER SN, ERA T Tl

SCHAAF (Taicang) Co. Ltd. FEFREEBEBRERAR ( A€ )BERAT - hELHA K GHT ALK 85, i%: 215400 - Hiif: +86 (0)512-81608060 - info@schaaf.cn [=] 5

pted. Data will change as developments occur. Only the latest state of the art design is decisive. Copyright as per standard ISO 16016.

Printing and publishing kindly supported and approved by the german headquarter: SCHAAF GmbH & Co. KG - 41812 Erkelenz - Germany - E-Mail: info@schaaf-gmbh.com

PG48.msn.cn_0121_indd_online - Errors exce|



IR HEIER AR

Leading joining technology

»

=R RS (HS)
SCHAAFRIHS RSB RIE S 5E E
BEREI A, EITATFRAEERI TR

SCHAAF"

[Ell MSNiZRIZE =S85 &5 (HS)
PG 48 | {F AR5 A SN 4hdh e R FE Hr{s

W IR REAAK (1) @
N - (=4
W IR 2 X
m R4 @) H
[GEEEz EHS HBRARE ARR FZizie & BE | ThEh
GxP D2 H DT Dj n sw a Ds S L Fnom Fmax
mm mm mm mm mm mm mm mm mm mm kN kN
B60010100 | MSN-HS/M16x2 M16 x 2 34 16 25 M6 x 0.75 6 5 6 32 3 33 110 140
B60010200 | MSN-HS/M20x2.5 M20 x 2.5 38 17 29 M6 x 0.75 8 5 5 38 4 34 145 185
B60010300 | MSN-HS/M22x2.5 M22 x 2.5 41 17 31 M6 x 0.75 8 5 5 41 4 34 145 185
B60010400 | MSN-HS/M24x3 M24 x 3 47 24 36 M8 x 1 6 6 6 47 4 44 215 285
B60010500 | MSN-HS/M27x3 M27 x 3 51 24 39 M8 x 1 8 6 6 50 5 45 285 380
B60010600 | MSN-HS/M30x3.5 M30 x 3.5 54 24 42 M8 x 1 8 6 6 53 5 45 285 380
B60010700 | MSN-HS/M33x3.5 M33x 3.5 63 32 48 M10 x 1.25 8 8 8 63 5 58 455 610
B60010800 | MSN-HS/M36x4 M36 x 4 66 32 51 M10 x 1.25 8 8 8 66 5 58 455 610
B60010900 | MSN-HS/M39x4 M39 x 4 72 32 54 M10 x 1.25 10 8 8 70 5 58 570 760
B60011000 | MSN-HS/M42x4.5 M42 x 4.5 76 32 57 M10 x 1.25 12 8 8 73 5 58 685 915
B60011100 | MSN-HS/M45x4.5 M45 x 4.5 84 38 63 M12 x 1.25 10 10 10 81 6 68 875 1170
B60011200 | MSN-HS/M48x5 M48 x 5 85 38 66 M12 x 1.25 10 10 10 85 6 68 875 1170
B60011300 | MSN-HS/M52x5 M52 x 5 94 38 70 M12 x 1.25 12 10 10 90 6 68 1050 1400
B60011400 | MSN-HS/M56x5.5 M56 x 5.5 98 38 74 M12 x 1.25 12 10 10 94 6 68 1050 1400
B60011500 | MSN-HS/M60x5.5 M60 x 5.5 109 59 83 M16 x 1.5 10 14 13 106 8 99 1580 2100
B60011600 | MSN-HS/M64x6 M64 x 6 113 59 87 M16 x 1.5 10 14 13 112 8 99 1580 2100
B60011700 | MSN-HS/M68x6 M68 x 6 117 59 91 M16 x 1.5 12 14 13 17 8 99 1900 2530
B60011800 | MSN-HS/M72x6 M72 x 6 121 59 95 M16 x 1.5 12 14 13 120 8 99 1900 2530
B60011900 | MSN-HS/M76x6 M76 x 6 132 61 102 M16 x 1.5 16 14 1 127 8 99 2530 3370
B60012000 | MSN-HS/M80x6 M80 x 6 133 61 103 M16 x 1.5 16 14 1 127 8 99 2530 3370
B60012100 | MSN-HS/M85x6 M85 x 6 139 61 108 M16 x 1.5 16 14 1 137 8 99 2530 3370
B60012200 | MSN-HS/M90x6 M90 x 6 158 81 119 M20 x 1.5 12 17 14 151 10 125 3150 4200
B60012300 | MSN-HS/M100x6 M100 x 6 168 81 129 M20x 1.5 14 17 14 160 10 125 3670 4900
B60012400 | MSN-HS/M110x6 M110 x 6 178 81 139 M20 x 1.5 16 17 14 172 10 125 4200 5600
B60012500 | MSN-HS/M120x6 M120 x 6 189 81 149 M20 x 1.5 18 17 14 179 10 125 4700 6300
B60012600 | MSN-HS/M125x6 M125 x 6 194 81 154 M20 x 1.5 18 17 14 190 10 125 4700 6300
B60012700 | MSN-HS/M130x6 M130 x 6 205 94 159 M20 x 1.5 20 17 16 202 10 140 5250 7000
B60012800 | MSN-HS/M140x6 M140 x 6 215 94 169 M20 x 1.5 22 17 16 215 10 140 5750 7700
B60012900 | MSN-HS/M150x6 M150 x 6 225 94 179 M20x 1.5 22 17 16 225 12 142 5750 7700
B60013000 | MSN-HS/M160x6 M160 x 6 235 107 189 M20 x 1.5 24 17 23 234 12 162 6300 8400
A by Ry = = PR
FFSCHAAF BRIZERIEH IR SCHAAFL{RIR T ERRR T 5
N = A /. 2 X
B AR, AR SHR SRR Fmax KA R T8 i 8, A
— N S D N L SOk =
B AR T st Har. BT IATKBT A& RE T, U
3 > £ N A > £
B R EHERT IS FHEER, AURF AR RL R R THI AL B Bl R TR 1R
e S T 17l < ~ g N =
B SEHERT SURIBELR, PA AR TR 1L
N S
L IVaviil: b,
www.schaaf.cn
=] 5 4 3 o N 3 A ¥ o
SCHAAFR I & Bk W B ER SN, ERA T Tl

SCHAAF (Taicang) Co. Ltd. FEFREEBEBRERAR ( A€ )BERAT - hELHA K GHT ALK 85, i%: 215400 - Hiif: +86 (0)512-81608060 - info@schaaf.cn [=] 5

pted. Data will change as developments occur. Only the latest state of the art design is decisive. Copyright as per standard ISO 16016.

Printing and publishing kindly supported and approved by the german headquarter: SCHAAF GmbH & Co. KG - 41812 Erkelenz - Germany - E-Mail: info@schaaf-gmbh.com

PG48.msn.cn_0121_indd_online - Errors exce|



